
 

Fax Option Type 301 
(D655) 



 

 
 

 

  1.Fax Option Type 301 (D655)................................  2 

 Parts Index ..............................................................  6 

Fax Option Type 301 (D655) 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 

 
CONTENTS 

March 26, 2012 



2 

 

1.Fax Option Type 301 (D655) 

D655-00/01/02/04

D660-00/01/02

103

103

1

2

101

101
102

102

3

4

5

6

7

107 104 105 106

8



3 

 1 B284 5050  Speaker:B284 1 

 2 D068 5230  Harness:Speaker:Connecting 1 

 3 D655 5182  PCB:GWFCU:NA:Ass'y 1 

 3 D655 5185  PCB:GWFCU:EU:Ass'y 1 

 4 D067 1314  Insulating Sheet:Fax Control Unit 1 

 5 D117 1537  Decal:Fax:Many Languages 1 

 5 D117 1563  Decal:Fax:NA 1 

 5 D117 1568  Decal:Fax:EU 1 

 6 D067 5235  Ground Wire:Cassette 1 

 6 D655 1380  Harness:FCU:Ground Wire 1 

 7 H523 5350  Telephone Cable 1 

 8 D660 5000  SD-Card:Faxconnect:EXP:Ass'y 1 

 

 

 

 

 

 

 

 

 

 

 

 101 0450 3008N Tapping Screw - M3x8  

 102 0453 3006N Tapping Screw - M3x6  

 103 0451 3006N Tapping Screw - 3x6  

 104 0360 3006N Screw - M3X6  

 104 0360 4006N Screw - M4X6  

 105 0353 0060N Bind Screw - M3x6  

 106 1105 0487  Harness Clamp  

 107 1607 2251  Ferrite Core:K3 NF-75(N)BK0  

 107 1607 2256  Ferrite Core:K3 NFR-08-ABK0  

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per
Assembly

Part No. 
Index 
No. 

1.Fax Option Type 301 (D655) 

Ed O'Brien
Item 3
S-C5 PCIL: January 2013



 

Parts Index 



6 

D655 1380  Harness:FCU:Ground Wire   3 -   6 

D655 5182  PCB:GWFCU:NA:Ass'y   3 -   3 

D655 5185  PCB:GWFCU:EU:Ass'y   3 -   3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

B284 5050  Speaker:B284   3 -   1 

D067 1314  Insulating Sheet:Fax Control Unit   3 -   4 

D067 5235  Ground Wire:Cassette   3 -   6 

D068 5230  Harness:Speaker:Connecting   3 -   2 

D117 1537  Decal:Fax:Many Languages   3 -   5 

D117 1563  Decal:Fax:NA   3 -   5 

D117 1568  Decal:Fax:EU   3 -   5 

D660 5000  SD-Card:Faxconnect:EXP:Ass'y   3 -   8 

H523 5350  Telephone Cable   3 -   7 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Parts Index 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No.

Part No. 



7 

0353 0060N Bind Screw - M3x6   3 - 105 

0360 3006N Screw - M3X6   3 - 104 

0360 4006N Screw - M4X6   3 - 104 

0450 3008N Tapping Screw - M3x8   3 - 101 

0451 3006N Tapping Screw - 3x6   3 - 103 

0453 3006N Tapping Screw - M3x6   3 - 102 

1105 0487  Harness Clamp   3 - 106 

1607 2251  Ferrite Core:K3 NF-75(N)BK0   3 - 107 

1607 2256  Ferrite Core:K3 NFR-08-ABK0   3 - 107 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No.

Part No. 


	1.Fax Option Type 301 (D655)
	Parts Index

